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2018 & =0l & L BHSIH oA It
2AM: A
H: oA (ZELXNS ML /=T)
chel: ot el (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot & ot 23,395,738 18,755,606 4,640,132
= 6,000,000
Xl 2,960,000
= 2,080,000
Al 12,355,738
ot A (ZELXGME/=XH) 11,942,091 11,202,090 740,001
= 6,000,000
Xl 200,000
< 2,060,000
Al 3,682,091
St& 2tel 11,942,091 11,202,090 740,001
= 6,000,000
Xl 200,000
< 2,060,000
Al 3,682,091
XNgata HE = 894,000 1,381,802 A 487,802
401 AIEHI L 2 CHYI 894,000 1,381,802 A 487,802
01 A& HI 891,030 1,372,132 A 481,102
ONMBZBMNLSAH(ELHIT, HHEX)
80,000,000 = 14l 80,000
ONMTZBNL SAH( LGSR FHEH)
200,000,000 14 200,000
OME AEES HE=ZA
1,000,000 * 100m * 99.10/100 99,100
OE2d ANE=S HEF=SA
800,000& * 100m * 99.10/100 79,280
OXEotd MolAEX R A2 E=Z A
30,000,000& * 3JHZ = 99.10/100 89,190
O2% 0eol E2=0IAE 2
60,000,000& = 14l = 99.10/100 59,460
OHIOI2 Y2 AI8E 2el 200,0008 * 250m 50,000
OEFMMHE(ME G)F) &X L aHH
4,000,000& = 23| * 4042 32,000
OMEEX (YHOITIIE~AA L) ZHIDI
50,000,000& = 23l 100,000
OXeotd otaddl ZHLR(SH)
00,000& * 2CH * 60JH 2 96,000
ONMEATH ss2el (g o 2t)
3,000,000& = 23| 6,000
03 AlZ 2 THHI 2,970 9,670 A6,700
OME AE2 HESZA
1,000,000 * 100m * 0.90/100 900
O3 ANES HES=SA
800,000 = 100m * 0.90/100 720
OXEstE THolAZX P A2 E+=Z A
30,000,000 * 3Ji<4 = 0.90/100 810




2 &
M S (ZELXEIHL /L)
CHe|: oftA 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O23F el 2=0lA4d B4
60,000,000 = 14! = 0.90/100 540
SIEAIEE 22 290,287 231,388 58,899
101 Q124 H| 143,915 113,344 30,571
04 JI2ZtHIZ22NEES 143,915 113,344 30,571
ONMEX (RED-HAD)ECI 2 o2
60,2403 * 15 = 60Y 54,216
OLed 3 X0 2 ANL2H2 2
60,2403 * 7Y x 40< 16,868
OMEEX JISE JIs0ll 2 ot 22| 28
el 3,000,000& = 53] 15,000
ONEMEBASBA AL2B A2
60,2403 ~ 1€ = 200 12,048
Oodro|agdz =8 EHJ| o2
60,2403 * 10¥ * 40 24,096
Ot 2steg2 st&aAl2e o8
60,2403 * 2 x 80 9,639
OXNYsE 58 25 U Myl =g
60,2403 * 49 = 52 = 10J§ ot 12,048
201 et d| 132,410 106,810 25,600
01 A2t 2| H| 39,650 39,650 0
OPIEI SR 23,150
— A} FAELG 70,000 * 239 » 10 16,100
— AN Ao G 30,000 * 23% = 5 3,450
— ¥ FA0H 90,000 = 5 » 8¢ 3,600
OLAHE TAH 2| 1,800
~HEEBH U AR ARXE
50,000& = 123] 600
— A48 X SOHE 25,000 x 43 = 12&€ 1,200
O&AHIEE T2 2¢ 6,800
— A} ¥ {IWYE T2 SANES
600,000 * 34! 1,800
—HdHPEE CAOEE20dY 2
5,000,000& = 1JH 5,000
O&HARRYE M Ko 35,000& = 20058 7,000
OJI=XEs®ds a9 HE
60,000& * 153 900
02 Z2=2=2494| 92,760 67,160 25,600
ONMEZEL IS M2 1,300,000& * 7& 9,100
OANI2sSH & ZEX JIs MIIe3
1,300,000& = 7& 9,100
OFEL Jis M2 1,000,000& = 3& 3,000
Od8d ZI Jis dMIIe=2
1,300,000 = 7€ 9,100




2AM: A
H: oA (ZELXNS ML /=T)
ool stE e (29l & 2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUdd 22 Jol+5 23
1,200,000& * 7& 8,400
OF2d JI2S, ctitE IS dJles
800,000& = 10& 8,000
Od&d IS A3 500,000& = 10& 5,000
OANZ2SE & ZEX dot=ER=
1,300,000& * 7& 9,100
OMHEEZ MM QEB2AWS 48
130,000& * 12& 1,560
OMEZIZ DA & Scleot ==l
1,500,000& * 45 * 13 6,000
ONQI2ET ¥ 22X 24 2 42|
1,500,000& * 45 * 13 6,000
O=s23 JI2s, ctHt2 J1H =2l
600,000& * 5& = 13 3,000
Osg U I, =21 =2l
600,000& * 2& = 23] 2,400
OMEZEZ 2 24 BEX FEo
400,000& = 53 * 13 * 30 6,000
OM&E &Il A= E=
150,000&  12& * 13 1,800
OHloI2Z2stEd2 EE2X AAZ2RS
400,000& * 13 400
OHtola =gz 2 dIIe3
70,000 = 504 * 128 4,200
OHolI2 =g =2 2 st&s 2axH
200,000& » 10H2x = 33 600
206 M= Hl 13,962 11,234 2,728
01 =8l 13,962 11,234 2,728
oxZdzel Me ¢ 3,200
—HlZ 8,000& = 100&Z = 23| 1,600
— &4l 200,000& * 4= = 23| 1,600
Ost= 7¢ 10,000& = 28 » 100%Z 2,000
OFgEF? 2 20,000& = 58 = 1004 1,000
O&LAI RFEMU 4,112
— Y= 1,480& = 3004/ =« 8 3,552
— Ay 3,500& = 204 =« 83 560
Os&(201) & LBt dFI =2 25 7¢
1,000,000& * 14 1,000
OUSAL 2T 7 2 &X
1,000,000& * 200 £ 2,000
OHoI 2822 OlsASEAY otEX 7Y
50,000& 13044 650
()XNLStEFB(ME, SH) 10,000,000 7,200,000 2,800,000
= 6,000,000
< 2,000,000
Al 2,000,000




2AM: A
BE: GHHUR (REUXN ML/ 2T)
chel: ot el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 10,000,000 7,200,000 2,800,000
= 6,000,000
< 2,000,000
Al 2,000,000
01 A& HI 9,540,000 6,729,525 2,810,475
OME X7 ot& THoll Ol 2 At
5,000,000,000& = 1Al = 93.07/100 4,653,500
2 3,000,000
= 1,000,000
Al 653,500
O=AHX 7 ot ol ol 2 At
5,000,000,000& = 1Al = 97.73/100 4,886,500
= 3,000,000
< 1,000,000
Al 886,500
02 Zeltl 433,000 450,000 A 17,000
OME X7 St& THoH Ol 2 At
333,000,000& * 14 333,000
OSHX 7 St& THofl ol 2 At
100,000,000& * 14 100,000
03 A& S THHI 27,000 20,475 6,525
OMBE X7 St& THoH Ol 2 At
5,000,000,000& = 14 = 0.27/100 13,500
OSHX 7 St& THofl Ol 2 At
5,000,000,000& = 14l = 0.27/100 13,500
HF=EHISG AEd2 7X2al 157,804 104,900 52,904
101 @14 Hl 45,180 0 45,180
04 JIZHHZ22XREES 45,180 0 45,180
OZ=35 E0IR3F &0 ¢ stx=z2el AR
60,2403 = 30H » 20 36,144
O35 E0RTSE M2 g2
60,240& = 1€ * 150€& 9,036
201 Yete | 67,390 18,900 48,490
01 At 22l 21,000 1,000 20,000
OH=HIIAZHIALY At 22l
1,000,000& * 14 1,000
OZ=s E0IR3A 822 M
1,000& » 28 = 5,000% 10,000
OZ=s E0IZ3A H&E J183 M=
2,000& = 5,00004 10,000
02 =224l 46,390 17,900 28,490
OE5w E0/LULEDE2E , =823 M=
200,000& = 123 2,400
O3 E0tZ SJ(=HI13Y) #IIe3
500,000& = 123 6,000
OZHEZZE RS 3,500,000& « 83 28,000




SN BHE D
H: oA (ZELXNS ML /=T)
chel: ot el (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Osd=z dg 22 doaa
100,000& * 12& 1,200
OZ0=22d, HIESXE HIIAL ordzel O
He=2 260,000& = 12& 3,120
OZd= YU NHMBAF & SXNE WA=
=g 110,000& » 12& 1,320
OEBd= dYU 527 HIIBA
150,000 * 13| 150
OBUIZZE HIANM 24 U 22|
150,000& = 138 = 128 1,800
OZ0t23& 2l W=Jl =cl
200,000& = 15 * 23l 400
OHEZ GIESX B8 ABR
2,000,000& = 13l 2,000
206 M= Hl 8,234 0 8,234
01 M= 4l 8,234 0 8,234
OoxZ el M+ 2,600
—Hz-2g 5,000& = 100&Z = 23| 1,000
— Eldl=7g 200,000& = 4& = 23] 1,600
OXIE+ 2 1,000
—OFII 2 45 200,000& * 53 1,000
O&CIAI & 1,184
— LR 1,480& = 1004 =« 8& 1,184
O3ZAE U at&4d st&EX +
50,000& * 302 150
OXZAY s+ ¢ &X
1,000,000& * 3JH 2 3,000
OLBHHFII =225 7*&  150,000& » 23] 300
401 AIEHI L 20 37,000 86,000 249,000
01 A& HI 37,000 86,000 249,000
SZHEZELZ 2HWE  17,000,000& * 14 17,000
O3 SRS, HESZE AME2 A
2l 20,000,000& = 14 20,000
Y 32 ZEAMY 600,000 0 600,000
Xl 200,000
< 60,000
Al 340,000
401 AIEHI L 2CHEI 600,000 0 600,000
Xl 200,000
< 60,000
Al 340,000
01 A& Bl 596,220 0 596,220
O FEHHEMY I 2AELEAY
600,000,000& * 14l * 99.37/100 596,220
X 200,000
< 60,000




SN BHE D
M S (ZELXEIHL /L)
el otEzel eel i )
= (o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 336,220
03 AlE 201 | 3,780 0 3,780
Og=x=Y HEHHHZB2AEZHAIY
600,000,000& = 141 « 0.63/100 3,780
THOH 22l (B Z2E AN UM /THLHEITH - 218E9]) 11,371,687 7,472,636 3,899,051
Xl 2,760,000
= 20,000
Al 8,591,687
of& Al 11,371,687 7,472,636 3,899,051
Xl 2,760,000
= 20,000
Al 8,591,687
A0HE i - BfAY 4,071,687 2,154,135 1,917,552
101 e1214| 21,687 18,634 3,053
04 J|12ZtHIZ22NEES 21,687 18,634 3,053
OOotSt=2ast&E IR o8
60,2403 * 49 * QH A « 102 21,687
401 Al HI L E0HHI 4 .050,000 2,135,501 1,914,499
1 Al&H| 4,029,300 2,129,043 1,900,257
Oastd &l 3,284,700
— A0IE (19801 A) SR &2
1,000,000& * 300km 300,000
— A0t® MoHRAEXF B
30,000,000 * 1000 A& 300,000
— ASIEZSEEHUHE WA (XAA A
o =ZH) 200,000,000& = 1Al 200,000
— ASIEZEHUIHE M2 (UHEA E
UM YA HA) 200,000,000& = 1A 200,000
— AGHBSIUINE HLLBA(FHEH,S
HE HRAA) 200,000,000& = 1A 200,000
—AGEZE U WAPB (S0, 2
DA ZHE AE A2F DIEH)
200,000,000 = 1Al 200,000
—-EJlg Zatel 2Ot A5 BUHIBA
320,000 = 250m * 99.10/100 79,280
—EZJ|8 0|22 20|=2 A0t& HHUI Z2At
500,000 = 200m * 99.10/100 99,100
— 0|4 2222 &= A6HE AU Z2AH
350,000 = 200m * 99.10/100 69,370
— 0| &R Rl 8t AGHAE HHIZBAH
500,000 = 100m * 98.92/100 49,460
— 0|4t 2 A22] LHOH AotE AUl Z2AF
500,000 = 140m * 99.10/100 69,370
—EH20H 2222 &3 ActE HHIZ2A
312,500 = 160m * 98.92/10 49,460
— 240 EtAt2] BHAF AGHAE FHIZ2 A
625,000& = 80m * 98.92/100 49,460




2 &
B THHB (STENLE /TSI - o)
Chl: olE A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—=+0 s=lol 522 2otd SOBA
500,000 = 160m * 99.10/100 79,280
— 240 PRl A0l AGHE THIBA
400,000€ * 100m 40,000
— &0 2HAH2| ol AGtE AU 2 A
400,000 * 125m * 98.92/100 49,460
— 4o SHI2 FE A5E FUIBA
600,000 = 100m * 99.10/100 59,460
— &40 S212 34 ASE U Z2A
500,000 = 140m * 99.10/100 69,370
— ol YRR B AGHE FUIBAM
400,000€ = 175m = 99.10/100 69,370
— Ot =L =X AotE AUl ZBA
500,000 = 100m * 98.92/100 49,460
— =280 Q82e] @& AotE AU Z2AH
600,000 = 100m * 99.10/100 59,460
— S8 2832 HEY Aot HUl Z2A
625,000 = 80m * 98.92/100 49,460
— =28 822 HEHD AotA HHIZ2A
500,000 = 120m * 99.10/100 59,460
— =50 HF3P22 2H AotE HHIZ2A
500,000 = 300m * 99.28/100 148,920
—&=E0 E&e 98 ActE HHI2A
500,000 = 200m * 99.10/100 99,100
— CHAFGY 32| 0|2 AGHAE THIZ2A
300,000 = 200m * 99.10/100 59,460
— CHARDY H AR AlD| ABHE HHIZ2A
300,000 = 200m * 99.10/100 59,460
— CHAS 12| Gt A At HHIZ2AH
300,000& * 150m 45,000
— 240 =12 301 AotE HHIZ2A
600,000& = 50m 30,000
— 240 B2 =29 ActAE HHIZ2AH
400,0002 * 100m 40,000
— 82480 L322 &= Aot HH Z2A
500,000 = 160m * 99.10/100 79,280
— 240 MEjSIE ZH ALY
500,000 = 200m * 99.10/100 99,100
—AtQtE o2 AGHAE AU Z2AF
500,000& = 60m 30,000
— SH3s ME ASHE FUIZ2A
450,000& * 100m 45,000
—JIE23 MNES AotE HHIZ2AH
250,000 = 400m * 99.10/100 99,100
OAGIEEU(EEZTHWNES) 744 600
— 20 2222 WDIHAGHE HUI SAH
687,500 = 160m * 99.28/100 109,208
— OtE O Z4AH2l E4H1AGHE U2 A
250,000 = 800m * 99.28/100 198,560

_7_




—_—

ol

>
=

T

i

ol

oK

He
e
pal
~
=
c
L
=
=
0z
40

I

x

_|

CHE - EI(BA) - NRAY - BYS

=

i
2m

—
— =59

= 410

03 Al 2 THHI
OAxstdEd

| |
M Qe 0&
Olon 0 flo
e e e

it
2z
e

O
Lk
o o
SR
mo ox

|
O
S
mo

— 0l &t

e

|
=)
[pa
e

|
=)
[pa
e

I
0
o
e

I
D
1
2

I
Ho
1
e

I
0
e
e

I
0
+
e

I
o
+
2

I
)
0
e

I
)
0
e

I
Ot

o

e

I
Ot

o

e

|
Ot

o

e

|
Hr
0[Ok
2

Ij

EH&3el EBHEE EHISA
500,000& * 400m * 99.28/100
EY2c 2gActd A=LXSA

400,000& * 600m * 99.28/100

=
JHaotd EHISA
* 160m * 0.72/100
412l SLH1A0HE FHHISAM
250,000% * 800m * 0.72/100
EH &3] BHE & ZHISAH
500,000& = 400m = 0.72/100
E22cl Lot AFLEXNSM

400,000& = 600m * 0.72/100
|
el =02 ActE FHISAM

320,000& * 250m * 0.90/100
Ol=cl 2015 xotd ZFHISA

500,000& * 200m * 0.90/100
2&2cl =3 A0tE FHIEAM

350,000& * 200m * 0.90/100
ol gd aotd ZHISAM

500,000& * 100m * 1.08/100
S422] LHOH AoHE HHISA

500,000& * 140m = 0.90/100
22 &= AotE HHIEAM

312,500& * 160m = 1.08/100
tatg] Etat AGHE FHIS A
625,000&  80m * 1.08/100
12l &=22 A6t FHISA
500,000& * 160m * 0.90/100
1el ot& Ac6td FHISA
400,000 * 125m = 1.08/100
12l &5 Ac6td FHISA

600,000& * 100m * 0.90/100

rm

0>
Ao

J

FA

(Al

—v—

I

In
2

12

| =S4 Xotd FHIZA
500,000 * 140m = 0.90/100
el 2t= Actd HHISA
400,000 * 175m = 0.90/100
el EX ActE HHISA
00,000& = 100m = 1.08/100
822l 28 AotdE HHIEAM
600,000& * 100m * 0.90/100
832 FE ActE FHHIESAM
625,000&  80m * 1.08/100
822 HEHOI ActE ZHISA
500,000& * 120m = 0.9/100
722 SH 26t ZHISA
500,000 * 300m * 0.72/100

fob
HO

e
10
ol

EY

LH

A
H

(63

0

198,560

238,272
20,700
5,400

792

1,440

1,440

1,728
15,300

720

900

630

540

630

540

540

720

540

540

630

630

540

540

540

540

1,080

6,458

14,242
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ot & ot
HoH2 e (BSEMLOHE /THHEH - 212 9l)
St& &l

SN HH-S(BN) - MBAY - B il HlnE2
— =580 98l 98 ActE HHISA
500,000 = 200m * 0.90/100 900
— Chate 2332 018 AotE FHISA
300,000& = 200m * 0.90/100 540
— CHAHDE Hakge] AD| ASHE HHIZEAM
300,000& * 200m * 0.90/100 540
— 240 L322 ¢S A0tE FHISA
500,000& = 160m * 0.90/100 720
— P& MEGIEZ LAY
500,000 = 200m * 0.90/100 900
— 828 4 ES A0dE FHISA
250,000 = 400m * 0.90/100 900
(Z)Lot&EHI(ME) 4,520,000 4,308,000 212,000
Xl 2,260,000
Al 2,260,000
401 AIEHIZ 28I 4,520,000 4,308,000 212,000
Xl 2,260,000
Al 2,260,000
01 A& HI 4,501,028 4,288,577 212,451
O AdtE HHISA
1,860,000,000& * 1A x 99.64/100 1,853,304
Xl 930,000
Al 923,304
O=LA0td FHISA
1,660,000,000& * 1A x 99.64/100 1,654,024
Xl 830,000
Al 824,024
O Adtd FHISA
1,000,000,000& * 1A x 99.37/100 993,700
Xl 500,000
Al 493,700
03 Al =20 HI 18,972 19,423 A 451
OHGAdtE FHIZSA
1,860,000,000& * 14l = 0.36/100 6,696
O=LA0td FHISA
1,660,000,000& * 14l = 0.36/100 5,976
O A0tE FHISA
1,000,000,000& * 1Al = 0.63/100 6,300
M&EINE = At , 740,000 650,501 1,089,499
401 Al HI L 2 I 740,000 650,501 1,089,499
01 A& Hl , 729,308 647,597 1,081,711
OM& & 400,000
—H&E MHAEX 7 2SE=>
20,000,000& * 200 2 400,000
ONM&EEE(SEZZWNES) ,329,308
—0l&tH Rl StEESFEAE ZHISA
450,000& * 400m * 99.28/100 178,704




ot & ot
ol 22 (SSEMUHE/THHLTH - 2rekel)
St& &l fEH)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
— 0l AE2e] 2 ME FEHISA
450,000& * 200m * 99.10/100 89,190
—0l&te 221el sUFFAAME FHISA
500,000& * 140m * 99.10/100 69,370
—0l&tE Za1e] E4SAME EHISA
250,000& * 200m * 98.92/100 49,460
—E2H 212 ot=g=2 20a ME A
Bl S At 200,000& * 1,000m * 99.28/100 198,560
—HB20 =212 AA=NE HUISA
1,000,0002 * 150m * 99.28/100 148,920
—OtEO =S2el LXOISHE ZHISA
200,000& * 500m * 99.10/100 99,100
—S8H |d12 AEME FHISA
700,000& * 100m * 99.10/100 69,370
—S8H SH2el BEMIIME HEIZSAM
300,000& * 500m * 99.28/100 148,920
— S8 H otE22 EIZE=MNE HUISA
325,000& * 400m * 99.28/100 129,064
— =209 gH&el LH=HME 2 1A FH|
S A 180,000& * 500m * 99.10/100 89,190
— 848 SX1el A0S HE ZHISA
300,000& * 200m * 99.10/100 59,460
03 Al 2 THHI 10,692 2,904 7,788
ONHEHH(SEXZZEURS) 10,692
— 0l el stdEFEAE HHISA
450,000 * 400m * 0.72/100 1,296
— 0l AE2e] 2o HME HISA
450,000 * 200m * 0.90/100 810
— 0l 2212 sUFFaAAE BISA
500,000% * 140m * 0.90/100 630
— 0l Sd1el Ed=HE EHISA
250,000 * 200m * 1.08/100 540
—E2% =12 OtEE =2 204 AE F
8IS At 200,000& * 1,000m * 0.72/100 1,440
—B2d =212 A HE HHISA
1,000,000 = 150m * 0.72/100 1,080
— ot el LXNOSAHE FEHISA
200,000& * 500m * 0.90/100 900
—S8Y |A12 JLME HHISA
700,000 * 100m * 0.90/100 630
—S8Y |42 BEMIIAME HHSAM
300,000& * 500m = 0.72/100 1,080
—S8dY dtE22 ElIZE=HME HHISA
325,000& * 400m * 0.72/100 936
— =80 12l LE=ME 2 1A FHl
=\ 180,000& * 500m * 0.90/100 810
— 248 SX12] AFUO0SHAE FH S A
300,000& * 200m * 0.90/100 540




2AM: A
FH: THol 22 (SSEMUHE /TSI - 2rekel)
el GtE I (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
(Z)AotEEHIAIS (M &) 40,000 0 40,000
= 20,000
Al 20,000
401 Al HI K 201 I 40,000 0 40,000
< 20,000
Al 20,000
01 A& Bl 39,568 0 39,568
O 240 2H1cl £HtAALSHE FHUISA
40,000,000& * 1A » 98.92/100 39,568
< 20,000
Al 19,568
03 Al 2 THHI 432 0 432
O 248 BH 12l BHIALGE JHIBA
40,000,000 = 1Al = 1.08/100 432
(Z)LotE T (ME)(SY) 1,000,000 360,000 640,000
Xl 500,000
Al 500,000
401 Al HI K 201 I 1,000,000 360,000 640,000
Xl 500,000
Al 500,000
01 A& HI 993,700 357,408 636,292
O actd FHISA
1,000,000,000& = 14! * 99.37/100 993,700
Xl 500,000
Al 493,700
03 Al 2 THHI 6,300 2,592 3,708
OSAactd FHISA
1,000,000,000& * 14! * 0.63/100 6,300
#HS S AU (5 D) (OIEHIIEH) 81,960 80,880 1,080
Jl2Zl 81,960 80,880 1,080
Jl2ztl 81,960 80,880 1,080
201 Let2d] 21,060 19,980 1,080
01 At 22l 21,060 19,980 1,080
O=AERX ¢ 15,000& = 15%FA « 123 2,700
OS20A | 7,000& * 64l » 15H * 123 7,560
Ogetx=x=g 100,000& » 12& 1,200
OAL72 EAFLLI 50,000& = 12& 600
O4LAa2 =4&H| 8,100
—SADI(THE) =2l 1,000,000& * 1CH 1,000
—Zegy 2l 100,000& * 408 = 50/100 200
—=SAI EU 200,000& = 53] = 104 1,000
— ODBE(S%) £E4 200,000% * 53] * 404 4,000
— D2l (&Ze) Ed  200,000& * 53 = 104 1,000
— PC==2l 100,000& =« 15CH = 20/100 300
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2AM: &
M HEHBH (ot ) (JIEH/IIE
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—JIEt =2ly| 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 159 = 12& 900
202 (4] 56,700 56,700 0
01 2L Y] 56,700 56,700 0
Oot&a L =X Y| 56,700
— ZLH O B 20,000& » 159 * 12 « 12& 43,200
— 2204 H| 90,000& *» 15 = 10 13,500
203 ¥R =&XH| 3,000 3,000 0
04 ENSIHRE=Y| 3,000 3,000 0
ORANSIELERF=AY| 250,000& = 12& 3,000
204 &R = A b 1,200 1,200 0
01 S HR-HAY| 1,200 1,200 0
ONMIALLHAY| (S BHE)
100,000& * 1 = 12& 1,200




